QJustMaths

Calculations (F)

A collection of 9-1 Maths GCSE Sample and Specimen questions from AQA, OCR, Pearson-Edexcel and WJEC Edugas.

Name:

Total Marks:

1. 8 identical pens cost £12
Work out the cost of 10 of these pens.

e > 3y 1443 =15
10 \w 9 6
53 £ 15

................................... [2]
2. (a) Work out 84 + 3 9 ¥
3| $Y
25
................................... [1]
(b) Work out 0.17 x 6000
O3 % (000 ¥ b 1Yo
13O x & 6 |
IOEO (020 ... [1]
(c) Work out (-2)3
-2 x-Ax-2 = -8

3. One day Sally earned £60
She worked for 8 hours.
Work out Sally’s hourly rate of pay.

Fé%;‘?o 5> 3.5

£
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4. Circle the two statements that are false.

A If p is an integer then 3p is a multiple of 3.
f g is an even number then g is always an even number.

C If s is an integer then 2s + 1 is an odd number.

@Ift is an even number then t3is an odd number. 2 x2x?2 = &

A2

5. Work out. 28
(a) 926 - 382 S G4y
() I S Ltb( .......................
bys17 x 16 Ot
_ Uk
51360 ,.
ERE-TS (D) ceveveeeeren. 8232
¥ 24l
6. Write these numbers in order of size, smallest first.
12 -7 -11 -2
sl N Fo o 2.
7. Write these temperatures in order.
Start with the lowest temperature.
7€ -2°C 10°C /—5-66 39C
.................... TN Oy 2 SRR SRR S SN O ST
8. Tracy buys 15
2 coffees at £1.10 each 2.20 3
2.865 2388
3 teas at 95p each TS
5 sandwiches at £2.15 each [§ 3§ R O
" 3,16
Tracy shares the total cost equally between 5 people. _ ey
S5]1S. €0

How much does each person pay?
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9. Coffee is sold in jars.
There are 200g of coffee in each jar.
Ben makes 8 cups of coffee each day.
He thinks he uses 2g of coffee to make each cup of coffee.
Ben wants to buy enough coffee for 28 days.
(a) How many jars of coffee does Ben need to buy?
2 X% = léj

28
( 6
X
|

O

§
b
/-——v—/

Ben finds tha

e+ 0\ &

he uses 2.5 g of coffee to make each cup of coffee.
(b) How does this affect the number of jars of coffee he needs to buy?

You must give a reason for your answer.
2.Sx8 = 20

@x20 =S4 5o sl needs 3 o

-------------------------------------------------------------------------------------------------------------------

................................................................................................................ [2]
10. Alice makes cards.
Each card uses 42 cm of ribbon.
She has 1000 cm of ribbon.
(a) Work out the maximum number of cards she can ngake
I 42 >3 126 23.8 NI
’Z ‘8‘1‘ ¥ ]‘m Z(a 2 S%CW\ ({][f oves
; 31?2}1 Cs 2.5 cocdy Z ¢ [2]
(b) How much ribbon will be left over?
o [1]
11. Liz buys a car for £7500 o 1O
She pays a deposit of £1875 &ii
She pays the rest in 36 equal monthly payments. 5 625
Work out the amount ofw payment. 3 Z)iS@. 25
. B 3¢ [SE26 700
G Y4 L 216
g 8% ' 3]
S 180
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12. 110 students go on a school trip.

Pack of 6

Each student needs a bottle of water. $o 1 9 Fqg\(s oo e d.

How many of these packs are needed?

13. (a) Circle the value of 24 = 2x2xlxl = l6

6 8 @24

(b) Circle the value of 53 = Sx5%5

—
15 25 53 st
2

(c) Circle the value of V196 { % 'y

13 @ 98 ?éd)i}g_g

14. A hotel charges: :
? ) (9 6
£59 per night for a room 9
X 5
£6.95 for breakfast -
335 o
£12.50 for an evening meal. 4
lo, 85
Liz stays at the hotel for 5 nights. z

She has 3 breakfasts and 1 evening meal.

How much does she pay altogether? Q 373, 35
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15. Jody’s pay is £315 per week. _ B 3(S
3 | 6 X b Z = ) 57
157 5o
She says, Sg S S
“There are 4 weeks in a month, so I will mu/tip/); %}jlr;éb? 4
There are 12 months in a year, so I will multiply the answer by 12

£315x4x 12 = £15 1207

Jody wants to work out her yearly pay.

Does her method give the correct amount for her yearly pay?

Tick a box.

/ No, her yearly Yes No, her yearly
pay is more pay is less

Show working to support your answer.

SZ \A-:uz,'gr e:\c‘\ a@u 3D S\SXSZ:Q(GB&’)

[2]
16. How many DVDs do you get for £35?
o= B | 1515
% pvws T
* i
| £5 each 1 3 free
|23y s e
, [
| Buy 2 get 1 free | «
% * | s 10O
[3]
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17. Two of the numbers move from Box A to Box B.

Box A Box B

§
|
3 7 |
|
%
|

The total of the numbers in Box B is now four times the total of the numbers in
Box A.

Which two numbers move?

24+ 354+649 =2¢ 01€+3 t(= 26

_ \ 2646 =73
2¢-4-1=1 20¢%+9q = Yy
Lxt = G4 [2]
18. The table shows the number of cars that used a town’s car park during a period of
one week.
Day Mon Tues Wed Thurs Fri Sat Sun TOTAL
Number of
cars 104 43 112 163 116 182 80 800

(a) How many cars used this car park during the weekend (Saturday and Sunday)?

| 82 |
__80 262
162 [1]

(b) One of the days between Monday and Friday is the town’s market day.

On another day, between Monday and Friday, the shops are only open in the
morning.

Using the information given in the table, which days do you think they are?

Market day Morning opening only

| 6 3 -5 Thes Y2 — Tues.

[2]
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Explain how it was possible for 182 cars to have used the car park on Saturday.
Bl dotd hewr o L Hure JN b o — Soma ounwe ot
a\; T o e . [1]

The charge for using this car park is displayed on the notice shown below.

(c) The car park has space for 170 cars.

4 CAR PARK )

Monday to Friday: £2 per day
Free parking on Saturday and Sunday

{No time limit)

o /

(d) How much money was spent on parking at this car park for the week shown in the
table? I o4
¥ 532

L2 E :
ey ToTC 7 Elo6
L {

{

il .

(e) The town council is considering a new system for the way it charges for parking.
The new system is
e reducing the charge to £1.50
and
e charging this amount on all seven days of the week

and

e allowing free parking for those who stay for less than one hour.

1
That week, a quarter (Z) of the cars stayed for less than one hour.

Using this information, decide whether this new system would collect more or less
money for the council.

You must show all your working.

%oL gOO = o0
> (oo 7([‘50 :(;}CIOO So \,Jmu\l(l 8,21‘ len WLQV\Q/U .

[3]

State an assumption you have made in part (e) and explain how your results would

change if this assumption had not been made. . al
Assma d tha Same nowby o( (/% ccrived ‘f’( meve
Cami Mace W\m\@j o d LQ o s_ecﬂ o VRISA - [2]
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A piece of wood is 32 cm long.

32cm

Pe Tem Ae Be ‘1w  ¢Q

18cm

Diagram not drawn to scale

Alan wants to drill two holes in the wood at points A and B, where AB = 18cm.

The distance PA and QB must be equal. 23y 1y
— 18 > = /‘}cm

Diagram not drawn to scale N

Calculate the length PA. 2 —cm

On an island there are two companies that hire out fishing boats to visitors.

Fishing Boats R Us Ocean Blue Boats

Hire charges Hire charges
£45 for first hour £32 per hour
then £30 per hour (or part of an hour)
(or part of an hour)

Robert wants to hire a boat to go fishing with his friends.
He needs the boat from 9:15 a.m. to 5:30 p.m.
Which company would you advise Robert to use?

Show all your working and a give a reason for your answer.
qis —2 S:1S = Shgy - Qha

Tl
Fiskfmj Boa dty ﬁ\)&: Oceam Blow g\oa&li
' 32
4S + $x30 9 ZL&OS y
£285 f 75%
o5 Ci’Loo& Fn‘slf\imj @ oal’s (& O‘S . [5]
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21. Here are four cards.

4 5 2 1

There is a number on each card.

(a) Write down the largest 4-digit even number that can be made using each
card only once.

(b) Write down all the 2-digit numbers that can be made using these cards.

Sy ¥S 2% 1S
C2 2 2Y 1y
ST 41 201 12
| [2]

22. Work out 247 x 63
2 4 3

v 2 : .
| q/wz /" 5 (556
1y 4

2
I aryZ
SEZE_L;,ngg [3]

s 6

23. A unit of gas costs 4.2 pence.

On average Ria uses 50.1 units of gas a week.
She pays for the gas she uses in 13 weeks.

(a) Work out an estimate for the amount Ria pays.

56 % 10 = 500 5?3‘ 55_{2 3023.35
SQO x4 = loccO 5 5.0 2 L 05(26—‘
X 20.00 \So.3 13026
TCC .3 2735 %6 e, [3]

(b) Is your estimate to part (a) an underestimate or an overestimate?

G:ve a reason for your answer.

S W\(u/\(p,ol\m&}p\ Aj \{7 15
[1]
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24. A shop sells milk in 1 pint bottles and in 2 pint bottles.
Each 1 pint bottle of milk costs 52p.
Each 2 pint bottle of milk costs 93p.

Martin has no milk.

3
He assumes that he uses, on average, ” of a pint of milk each day.

Martin wants to buy enough milk to last for 7 days.

(a) Work out the smallest amount of money Martin needs to spend on milk.

i , . P
You must show all your working. 2o Lot D Q&Y= (Z-’H
i _?_ _ 5_1 Lx Lk 2| b = 186 + 10y
L Lt 4 F | . =f2.10
P [3]

3
Martin actually uses more than 0 of a pint of milk each day.

(b) Explain how this might affect the amount of monel}/ he needs to spend on milk.

‘b@?%&“\' ™~ ]r\.ou '/V\,(/\J\ "M AN — (/obq' gp u/I)

[1]
25. Michelle and Wayne have saved a total of £458 for their holiday.
Wayne saved £72 more than Michelle.
How mughzdéd Wayne save? 72 9
— 229 e
2 ]458 EA O Y S
Z 265 193
S QZQS [2]
26. Work out 0:;2 = _L'_Z, _ S'i’
3 Y
[1]

27. In a quiz, teams are asked 20 questions. Teams score
3 points for a correct answer
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0 points for questions not attempted

—2 points for an incorrect answer.

a) Team A has these results.

Not
Cc ct I
orre attempted ncorrect

Number of
questions 12 5 3
3= 3b | O x-2=-6
Work out the total number of points Team A scores. J6-6+= %0
20 loo e

b) Team B answers 16 out of 20 questions correctly.
Work out the percentage of questions Team B answers correctly.

[2]
c) After 17 questions, Team C has 35 points.

After 20 questions, Team C has 34 points.
How many of the last three questions are answered correctly, not attempted or

answered incorrectly?

3 — | Correct l

(/=3 Not attempted O

2 x 'i Incorrect 2

- [2]
28. 82 children visit a sports centre.
50 of the children swim. ')% Z: 336 ‘fL:? SSQ
At least one adult is needed for every 12 children who swim.
=S 5 adulds

) 3o 3 2

ra 3

The other 32 children dance.
15 children who dance.

[
At least one adult is needed for every
Work out the minimum number of adults needed for the 82 children.

[4]
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J98.5 =121 ~ \,[I_’OO" 2 -7

29. Jack works out the answerto ——m8m8@8@88
-0.8 = o =
-0-8 —0-3

He says the answer is negative.
-V - -\Ve =+t Vo

Is he correct?

You must show your working.  So he 1|4 urw\j ,

[2]
30. 15 rulers cost £3 > 5 cost Bi 5 Yo cat £y
How much do 40 rulers cost?
[2]
31. Which statement is true? Circle your answer.
-6 is greater than -2 -6 is greater than 2
-2 is greater than -6 -2 is greater than 6
[1]
32. Here are some cards.
+8.3 +8.9 -8.9 -8.3
e/ L AN o -
a) Choose a card so that the answer is as small as possible. 2 q
Work out the answer. | 2.6
e TN AN
N LS

1

b) Choose a card so that the answer is as small as possible.

Work out the answer.
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35| — [+89| = -[2.Y

[2]
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